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 Conditional Sentences 

 

��������	�
���
�	����	��
� 
What do w mean by the term Conditional Sentence? 
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If I don’t eat breakfast , I always get hungry during class. 
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If the temperature goes below 32F/0 C, 

water freezes (will freeze). 
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If the weather is nice tomorrow , we will go on a picnic. 
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If I taught this class , I wouldn’t give tests. 
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If he were here right now, he would help us. 
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If I were you , I would accept their invitation. 
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Un true in the past 
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If you had told me about the problem , I would have 

helped you . 
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If they had studied , they would have passed the exam . 
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If the temperature goes below 32F/0 C, 

water freezes (will freeze). 
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32F/0 C 

  


�w�	o����		+��	
��<��	�)�(���	�6	
��M��	%����	4�*��  

ZJ*��	�6	�
=
6	E�	�������	�
����	
��M�	PF	����	&�G. 

�aGE�  
 

	Z�L���	C#
;���	�6	
���.	5�6	+�,�	8���	1*2)	+�,�	C*���x��
7��	8���  

 Z�L�	B��<L�	��	Z�L�	C#
;�	
�/	%����	4�*�	0� . 
 

  

	Z�L���	�M
���	�6	
���.	5�6	+�,�	8���	1*2)	��
7��	C*���x��
7��	8���  

 �M
���	N�(I<Jr�	d���	Z�L���	�M
���	�6	
;)�	1*2)	%����	4�*�	0� 
 �� will 0� would 	B����	#(T�	PFA?L��^�  were 

��	�M
��� is ���	.�����	B!
���	�<�
G	
<
�	�6\  
 


